

National Wild Turkey Fed.- PA Chapter Jim Panaro (Treasurer) 224 Buck Road Ebensburg, Pa 15931

JOB NAME: Turkey Talk Booklet (option1)

MATERIAL/DATA INFO: MATERIAL IN- LOCATION- DATA IN -

TERMS: FLAT

MAIL DATE: 2/25/2009 POSTAGE SPECS: Altoona PA 150 Non Profit

Qty	Item	Service Description	Cost	Total
	DATA PROCESSING	*** DATA PROCESSING SERVICES ***		
2	IMPORT DATA	IMPORT DATA FROM EMAIL		
10,500	HOUSE LIST	HOUSE LIST (PA MEMBERS)		
300	HOUSE LIST	HOUSE LIST (NON-PA BANQUET ATTENDEES)		
10,800	CASS	CASS CERTIFY ADDRESSES		
10,800	DE-DUPE	ELIMINATE DUPLICATES		
10,800	NCOA	NATIONAL CHANGE OF ADDRESS (NCOA)		
	DATA MIN NEW	DATA PROCESSING SERVICES	150.00	150.00
	MAIL PROCESSING	*** MAIL PROCESSING SERVICES ***		
10,800	INK ADDR	INKJET ADDRESS TO MAILPIECE	0.017	183.60
10,800	PRSRT/SACK/LVPO	PRESORT, SACK/TUB & DELIVER TO PO * ALTOONA, PA	0.02315	250.02
	PRT SRV	*** PRINTING SERVICES ***		
12,300	PRINTING	PRINTING MAGAZINE	0.24013	2,953.60
		8 1/8 X 10 5/8		
		STOCK: 35LB PREMIUM 80		
		20PAGE SELF COVER		
		COVER: 4/4 BLEEDS		
		PAGES: 4/4 NO BLEEDS		
		TRIM AND SADDLESTITCH		
	SPECIAL	** SPECIAL INSTRUCTIONS **		
		DELIVERY WILL BE UPS GROUND		

Total

PROPOSAL

Date

JOB #:

Sales Rep:

PO #:

2/25/2009

2900232

TW

Please sign to accept the terms of this estimate and return or fax to (610) 841-2306

*Tribune Direct will not begin work until this estimate is signed by the client

ACTUAL MAIL DATE:
TOTAL PIECES MAILED:
POSTAGE NEEDED/USED:

For Internal Use only

This estimate is valid for 30 business days, afterward, Tribune Direct reserves the right to provide a new estimate. Any change to the quantity, mailpiece characteristics or turnaround time will result in re-estimating of the job. Adequate postage MUST be supplied or deposited at the USPS before prepared mail will be delivered to the USPS. Tribune Direct is responsible for notifying the client of postage amounts and will make every attempt to notify the client as soon as possible. Should a client request a postage estimate, Tribune Direct will not be responsible for actual postage costs above what was estimated. Postage is ultimately determined by the USPS. Due to the number of outside influences, Tribune Direct will not be responsible for rate of return unless a specification of their part is proven. Should an error be made by a Tribune Direct representative, that liability will not exceed the the amount of the services rendered.

Tribune Direct is not responsible for the accuracy of mailing lists they provide. We do make every effort to qualify the compilers and vendors that supply us with mailing lists. Tribune Direct is not responsible for USPS delivery times. We will make every effort to inform the client of typical delivery times based on our experience.



National Wild Turkey Fed.- PA Chapter Jim Panaro (Treasurer) 224 Buck Road Ebensburg, Pa 15931

JOB NAME: Turkey Talk Booklet (option1)

MATERIAL IN- LOCATION- DATA IN -

TERMS: FLAT

MAIL DATE: 2/25/2009 POSTAGE SPECS: Altoona PA 150 Non Profit

Qty	Item	Service Description	Cost	Total
400	DELIVERY	DELIVER TO:	0.0305	12.20
		Joe Neville		
		Pennsylvania Game Commission		
		2001 Elmerton Ave.		
		Harrisburg, PA 17110		
200	DELIVERY	DELIVER TO:	0.0435	8.70
		Brooke Lenker or Terry Brady		
		DCNR Bureau of Forestry		
		RCSOB 6th Floor		
		400 Market St.		
		Harrisburg, PA 17105		
30	DELIVERY	DELIVER TO:	0.166	4.98
		Robert B. Miller Jr.		
		Advisor to Governor Rendell		
		RCSOB 7th Floor		
		400 Market St.		
00	DELIVERY	Harrisburg, PA 17105	0.166	4.00
30	DELIVERY	DELIVER TO:	0.166	4.98
		Janet Nyce		
		2547 Hill Rd.		
200	DELIVERY	Green Lane, PA 18054	0.0435	9.70
200	DELIVERY	DELIVER TO:	0.0435	8.70
		Don Heckman		
		14 Slate Hill Rd.		
		Camp Hill, PA 17011		

Total

PROPOSAL

Date

JOB #:

Sales Rep:

PO #:

2/25/2009

2900232

TW

Please sign to accept the terms of this estimate and return or fax to (610) 841-2306

*Tribune Direct will not begin work until this estimate is signed by the client

ACTUAL MAIL DATE:
TOTAL PIECES MAILED:
POSTAGE NEEDED/USED:

For Internal Use only

This estimate is valid for 30 business days, afterward, Tribune Direct reserves the right to provide a new estimate. Any change to the quantity, mailpiece characteristics or turnaround time will result in re-estimating of the job. Adequate postage MUST be supplied or deposited at the USPS before prepared mail will be delivered to the USPS. Tribune Direct is responsible for notifying the client of postage amounts and will make every attempt to notify the client as soon as possible. Should a client request a postage estimate, Tribune Direct will not be responsible for ratual postage costs above what was estimated. Postage is ultimately determined by the USPS. Due to the number of outside influences, Tribune Direct will not be responsible for rate of return unless a specification will not exceed the the amount of the services rendered.

Tribune Direct is not responsible for the accuracy of mailing lists they provide. We do make every effort to qualify the compilers and vendors that supply us with mailing lists. Tribune Direct is not responsible for USPS delivery times. We will make every effort to inform the client of typical delivery times based on our experience.



National Wild Turkey Fed.- PA Chapter Jim Panaro (Treasurer) 224 Buck Road Ebensburg, Pa 15931

JOB NAME: Turkey Talk Booklet (option1)

MATERIAL/DATA INFO: MATERIAL IN- LOCATION- DATA IN -

TERMS: FLAT

MAIL DATE: 2/25/2009 POSTAGE SPECS: Altoona PA 150 Non Profit

,	_,_0,_00	. 0017102 01 200.	, income i , i i co i i ci i i cin	
Qty	Item	Service Description	Cost	Total
10	DELIVERY	DELIVER TO:	0.48	4.80
		Bob Eriksen		
		27 Canterbury Rd.		
		Phillipsburg, NJ 08865		
5	DELIVERY	DELIVER TO:	1.30	6.50
		Bob Farkasovsky		
		322 Pennsylvania Ave.		
		Bridgeport, WV 26330		
20	DELIVERY	DELIVER TO:	0.267	5.34
		Carl Mowry		
		288 Crisswell Rd.		
	DEL 11 (ED) (Butler, PA 16002		
50	DELIVERY	DELIVER TO:	0.1406	7.03
		Ray Smith		
		1133 canoe Rd.		
10	DELIVERY	Jersey Shore, PA 17740	0.675	6.75
10	DELIVERT	DELIVER TO:	0.675	6.75
		Phil Ferrare 2924 Haskins Rd.		
		Waterford, PA 16441		
10	DELIVERY	DELIVER TO:	0.675	6.75
10		Don O'Brien	0.073	0.73
		3 Kellyburg Rd.		
		Trout Run, PA 17771		
		Tode really 177 1771		
	1			

Total

PROPOSAL

Date

JOB #:

Sales Rep:

PO #:

2/25/2009

2900232

TW

Please sign to accept the terms of this estimate and return or fax to (610) 841-2306

*Tribune Direct will not begin work until this estimate is signed by the client

ACTUAL MAIL DATE:
TOTAL PIECES MAILED:
POSTAGE NEEDED/USED:

For Internal Use only

This estimate is valid for 30 business days, afterward, Tribune Direct reserves the right to provide a new estimate. Any change to the quantity, mailpiece characteristics or turnaround time will result in re-estimating of the job. Adequate postage MUST be supplied or deposited at the USPS before prepared mail will be delivered to the USPS. Tribune Direct is responsible for notifying the client of postage amounts and will make every attempt to notify the client as soon as possible. Should a client request a postage estimate, Tribune Direct will not be responsible for actual postage costs above what was estimated. Postage is ultimately determined by the USPS. Due to the number of outside influences, Tribune Direct will not be responsible for rate of return unless a specificación their part is proven. Should an error be made by a Tribune Direct representative, that liability will not exceed the the amount of the services rendered.

Tribune Direct is not responsible for the accuracy of mailing lists they provide. We do make every effort to qualify the compilers and vendors that supply us with mailing lists. Tribune Direct is not responsible for USPS delivery times. We will make every effort to inform the client of typical delivery times based on our experience.



National Wild Turkey Fed.- PA Chapter Jim Panaro (Treasurer) 224 Buck Road Ebensburg, Pa 15931

JOB NAME: Turkey Talk Booklet (option1)

MATERIAL/DATA INFO: DATA IN -MATERIAL IN-LOCATION-

TERMS: **FLAT**

MAIL DATE: 2/25/2009 **POSTAGE SPECS:** Altoona PA 150 Non Profit

Item	Service Description	Cost	Total
DELIVERY	DELIVER TO: Gene Alwine 144 Church Rd. Davidsville, PA 15038	0.675	6.75
REMAINING MATERI	DELIVER REMAINING MATERIAL TO: Jon Pries 612 Harman Rd. Trout Run, Pa 17771	0.0305	12.20
POSTAGE ESTIMATE	POSTAGE ESTIMATE (NON PROFIT FLAT) POSTAGE DUE TO INCREASE EFFECTIVE MAY2009	0.356	3,844.80
NOTE	** NOTE ** CREATIVE AND LAYOUT INCLUDED IN PRICE		
	DELIVERY REMAINING MATERI POSTAGE ESTIMATE	DELIVERY DELIVER TO: Gene Alwine 144 Church Rd. Davidsville, PA 15928 DELIVER REMAINING MATERIAL TO: Jon Pries 612 Harman Rd. Trout Run, Pa 17771 POSTAGE ESTIMATE POSTAGE ESTIMATE POSTAGE DUE TO INCREASE EFFECTIVE MAY2009 NOTE ** NOTE ** CREATIVE AND LAYOUT INCLUDED IN	DELIVERY DELIVER TO: Gene Alwine 144 Church Rd. Davidsville, PA 15928 DELIVER REMAINING MATERIAL TO: Jon Pries 612 Harman Rd. Trout Run, Pa 17771 POSTAGE ESTIMATE POSTAGE ESTIMATE (NON PROFIT FLAT) POSTAGE DUE TO INCREASE EFFECTIVE MAY2009 NOTE ** NOTE ** CREATIVE AND LAYOUT INCLUDED IN

Total \$7,477.70

PROPOSAL

Date

JOB #:

Sales Rep:

PO #:

2/25/2009

2900232

TW

Please sign to accept the terms of this estimate and return or fax to (610) 841-2306

ACTUAL MAIL DATE: TOTAL PIECES MAILED: POSTAGE NEEDED/USED:

For Internal Use only

This estimate is valid for 30 business days, afterward, Tribune Direct reserves the right to provide a new estimate. Any change to the quantity, mailpiece characteristics or turnaround time will result in re-estimating of the job. Adequate postage MUST be supplied or deposited at the USPS before prepared mail will be delivered to the USPS. Tribune Direct is responsible for notifying the client of postage amounts and will make every attempt to notify the client as soon as possible. Should a client request a postage estimate, Tribune Direct will not be responsible for actual postage costs above what was estimated. Postage is ultimately determined by the USPS. Due to the number of outside influences, Tribune Direct will not be responsible for rate of return unless a specificacle on their part is proven. Should an error be made by a Tribune Direct representative, that liability will not exceed the the amount of the services rendered.

Tribune Direct is not responsible for the accuracy of mailing lists they provide. We do make every effort to qualify the compilers and vendors that supply us with mailing lists. Tribune Direct is not responsible for USPS delivery times. We will make every effort to inform the client of typical delivery times based on our experience.

^{*}Tribune Direct will not begin work until this estimate is signed by the client